
MADE IN  ITALY

Adam Pumps S.p.A. 
Soc. con Socio Unico
via della resistenza 46/48 - 41011 Campogalliano (MO) ITALIA
Tel +39 059 528128 - Fax +39 059 528437 | www.adampumps.com - info@adampumps.com

DIESEL

G FLOW / 
G FLOW PULSE OUT

G FLOW 
REED SWITCH

G FLOWtechnical sheet

document product

FEATURES DISPLAY PULSES REED SWITCH

Measuring system: oval gear oval gear oval gear
Protection: IP55 IP55 IP55

Power supply: 2 x 1,5V AAA 12V DC - 10 mA (yellow +12V, brown 0V) max 200 Vdc 0,5 A; max 140 Vac 0,35 A”
Pulse signal [imp/out]: / 100 calibrated 79

Cable [m]: / 2, flame retardant 2, flame retardant
Partial [digits]: 4 + 2 decimal 4 + 2 decimal /
Totalizer [digits]: 6 6 /
Unit of measure: liters, gallons, pints, quarts, customized /
Battery level indicator: Yes No No
Min Flow rate [l/min / GPM]: 10 / 1,32 10 / 1,32 10 / 1,32
Max Flow rate [l/min / GPM]: 110 / 26,42 110 / 26,42 110 / 26,42
Max Pressure [bar/psi]: 70/994 70/994 70/994
Precision[%]: ± 0,3 (*) ± 0,3 (*) ± 0,5
Repeatability [%]: 0,2 0,2 0,2
Pressure drop @ 60lpm [Bar] 0,5 0,5 0,5
Display rotation: Complete with shots 90° Complete with shots 90° /
Inlet/outlet[BSP/G]: Flange 1”” F” Flange1”” F” Flange 1”” F”
Body material: Aluminum Aluminum Aluminum
Gear material: POM-C POM-C POM-C
O-Ring material: NBR NBR NBR
Other materials in contact with the fluid: Brass, Steel, NdFe Brass, Steel, NdFe Brass, Steel, NdFe
Operating temperature min/max [°C]: -10 / +60 -10 / +60 -10 / +60
Allowed fluids Diesel, Oil Diesel, Oil Diesel, Oil
Forbidden fluids Gas, Alcohol, Gasoline, Water, Kerosene, Ad Blue®
Loudness at 1 m [dBA]: < 70 < 70 < 70
Net weight [Kg]: 1,8 1,6 1,6
Single size packaging [mm]: l 160 x b 120 x h 110 l 160 x b 120 x h 110 l 160 x b 120 x h 110
Gross weight [Kg]: 2,2 2,2 2,2

DOUBLE
REED

OUTLET
POSITION

DISPLAY
BACKLIGHT

FLANGE
1” F

OVAL
GEAR

OIL

FUNCTIONS:
Partial reset 	 Calibration
Total non-resettable 	 Display latest 5 disbursements
Resettable totalizer period 	 Display stock
Instantaneous flow rate display Alarm low stock

(*): Measurement performed after calibration up to 90 LPM, 
over 90 LPM the precision reaches ± 0.5%

 
 

 

Москва, шоссе Энтузиастов 31с50   

Санкт-Петербург, ул. Заусадебная 31 

 

ООО «АРТАЗ» +7 (958) 762-88-45, https://artaz.ru, Почта: info@artaz.ru 
Видеообзоры оборудования: https://youtube.com/@artazru 

 

 

 

 
 

Москва, шоссе Энтузиастов 31с50   

Санкт-Петербург, ул. Заусадебная 31 

 

ООО «АРТАЗ» +7 (958) 762-88-45, https://artaz.ru, Почта: info@artaz.ru 
Видеообзоры оборудования: https://youtube.com/@artazru 



Adam Pumps S.p.A. 
Soc. con Socio Unico
via della resistenza 46/48 - 41011 Campogalliano (MO) ITALIA
Tel +39 059 528128 - Fax +39 059 528437 | www.adampumps.com - info@adampumps.com

MADE IN  ITALYMADE IN  ITALY

digital flowmeter 

category	 model

CODE DESCRIPTION QTY 

DISPLAY PULSE OUT

1 TF066A TF066A METER BODY 1

2 TF065A TF065A FLANGE 1

3 VT040 VT040 SCREW TC M5x16 4

4 OR011 OR011 O-RING 37 x 3 NBR 4

5 VT045 VT045 SCREW TBEI M8X25 ZNB  4

6 TF070 TF070 CEMENTED PIN 5X60 2

7 TF040 TF040 MAGNET Ø3x6  4

8 TF071 TF071 CEMENTED PIN 3X14 2

9 TF018 TF018 CALIBRATION KNOB 1/8” 1

10 11010100200 11010100200 O-RING 108 NBR 1

11 TF068 TF068 OVAL GEAR 4

12 TF076 TF076 INLET FILTER 1

13 VT038 VT038 SCREW TC M4x35 4

14 VT036 VT036 NYLON WASHER 2

15 VT037 VT037 SCREW TC M4x6 2

16 OR031 OR031 O-RING NBR70 60X2.62 1

17 OR032 OR032 SEAL 86X82 1

18 TF067 TF067T COVER DISPLAY 1

19 TF046GF TF084 ELECTRONIC PCB 1

20 TF077 TF077 CEMENTED PIN  5X12 2

21 OR034 OR034 SEAL 1

22 TF073 TF073 PLATE 1

23 TF064 TF064 FLANGE 1”G 2

24 VT013 VT013 SCREW TC 3X8  3

25 MA093 MA093 FACEPLATE 1

26  - TF052 CABLE GLAND 1

27  - CA012 CABLE 5 POLES 1

28 TF048 - BATTERY AAA 2

25

24

3

14

15

20

7

8

6

5

23

1

10

9

4

11
16

2

17

22

21

19

18

13

26

27

Num. 
articolo Num. parte Descrizione Quantità

1 TF066 CORPO CONTALITRI G-FLOW 1
2 TF065 FLANGIA CHIUSURA CONTALITRI INGRANAGGI 1
3 VT040 Vite TC Croce M5x12 Trilobata UNI 8112 4
4 OR011 O-RING 37 x 3 NBR 4
5 VT039 VITE TCCE M8X16 ZNB ISO 4762 4
6 TF070 SPINA CEMENTATA PER G-FLOW 5X60 2
7 TF040 MAGNETE A DISCO d3x6 DI FLOW -  IN LINE 4
8 TF071 SPINA CEMENTATA PER G-FLOW 3X14 2

9 TF018 TAPPO CALIBRAZIONE 1/8" T.FLOW 1

10 11010100200 O-Ring 108 NBR 1

11 TF068 RUOTA OVALE G-FLOW 4
12 TF076 FILTRO A RETE INGRESSO G-FLOW 1
13 VT038 Vite TC Croce M4x35 Trilobata UNI 8112 4
14 VT036 RONDELLA D.4 PIANA NYLON (4X8X0.8) 2
15 VT037 Vite TC Croce M4x6 Trilobata UNI 8112 2
16 OR031 O-RING NBR70 60X2.62 TENUTA TF065 G-FLOW 1
17 OR032 GUARNIZIONE PIANA FUSTELLATA GFLOW 86X82 1
18 TF067 COVER DISPLAY G-FLOW 1
19 TF084 SCHEDA G-FLOW DISPLAY U. PULSI 1
20 TF077 SPINA CEMENTATA PER G-FLOW 5X12 2
21 OR034 GUARNIZIONE SAGOMATA COVER G-FLOW 1
22 TF073 PIASTRINO DI CHIUSURA G-FLOW DISPLAY 1

23 TF064 FLANGIA ALLUMINIO ATTACCO 1"G FORATA 2
24 VT013 VITE PER PLASTICA TC 3X8 BN13577 WN1412 3
25 MA093 MASCHERINA G-FLOW ADAM PUMPS 1
26 TF052 GOMMINO USCITA CAVO FLUSS. KB 6-8-12-3,5 1
27 CA012 CAVO 5 POLI + CONNETTORE PER U.PULSI 1
28 EL012 Scehda REED 1

4321

A

B

C

D

5 6 7 8

E

F

A

B

C

D

E

F

876541 2 3

Proprietà della  ADAM  PUMPS  Spa   -  Senza autorizzazione scritta della stessa il presente disegno non potrà essere comunque utilizzato per la 
costruzione dell' oggetto rappresentato, nè venire comunicato a terzi o riprodotto. La società proprietaria tutela i propri diritti a rigore di legge.

Formato

A3
Codice

Denominazione

CONTALITRI G-FLOW DISPLAY
1:2

Scala

Materiale <non specificato>
Materiale

R
e
v
is

io
n

i Rev.
RM n°

Data

Firma

V.Perrotta
Disegnato

02/12/2015

1

Data

Tolleranze generali
UNI EN 22768-mK SW-Massa kg

Peso indicativo

02/12/2015
Data

Approvato

1 di 1
Foglio

2 3 4 6 85 7 9

GFG00SP
ro

p
ri

e
tà

- Componente Adam Pumps -

28

GFlow display - pulse out

 
 

 

Москва, шоссе Энтузиастов 31с50   

Санкт-Петербург, ул. Заусадебная 31 

 

ООО «АРТАЗ» +7 (958) 762-88-45, https://artaz.ru, Почта: info@artaz.ru 
Видеообзоры оборудования: https://youtube.com/@artazru 

 

 

 

 
 

Москва, шоссе Энтузиастов 31с50   

Санкт-Петербург, ул. Заусадебная 31 

 

ООО «АРТАЗ» +7 (958) 762-88-45, https://artaz.ru, Почта: info@artaz.ru 
Видеообзоры оборудования: https://youtube.com/@artazru 



Adam Pumps S.p.A. 
Soc. con Socio Unico
via della resistenza 46/48 - 41011 Campogalliano (MO) ITALIA
Tel +39 059 528128 - Fax +39 059 528437 | www.adampumps.com - info@adampumps.com

22

13

14

11

19

18

20 12

18

9

1

83

17

2

15

21

4

4

20

5

7

10
6

24

Num. 
articolo Num. parte Descrizione Quantità

1 TF066A Corpo flussimetro 1
2 TF065A Cover flussimetro 1
3 TF064 Flangia di ingresso flussimetro 2

4 OR011 O-RING 37 X 3 NBR 4

5 TF070 SPINA CEMENTATA PER G-FLOW 5X60 2

6 TF040 Magnete Ø3 L=6 mm 2

7 TF071 SPINA CEMENTATA PER G-FLOW 
3X14 2

8 TF018 TAPPO CALIBRAZIONE 1/8" T.FLOW 1

9 11010100200 O-Ring 108 NBR 1

10 TF068 RUOTA CONTALITRI AD INGRANAGGI 
OVALI 4

11 OR033 ORING 6-532 di 86, d2 1
12 TF076 Filtro ingresso flow meter 1
13 TF072 Lamiera di chiusura 1
14 AC005 Pressacavo PG9 1
15 VT036 Rondella Nylon 4x8x0,8 2

20 OR031 ORING 2-142 Di 60 d 2.62 1

17 TF077 SPINA CEMENTATA PER G-FLOW 5X12 2

18 TF079 SCHEDA 1 REED IN-LINE + CAVO 2M 1

19 VT040 Vite TC Croce M5x12 Trilobata UNI 
8112 4

20 VT039 VITE TCCE M8X16 ZNB ISO 4762 4

21 VT037 Vite TC Croce M4x6 Trilobata UNI 
8112 2

22 80901439100 Vite TC Croce M4x10 Trilobata UNI 
8112 4

24 Dado M8 Dado M3 esagonale 
autobloccante UNI 7473 1

4321

A

B

C

D

5 6 7 8

E

F

A

B

C

D

E

F

876541 2 3

Proprietà della  ADAM  PUMPS  Spa   -  Senza autorizzazione scritta della stessa il presente disegno non potrà essere comunque utilizzato per la 
costruzione dell' oggetto rappresentato, nè venire comunicato a terzi o riprodotto. La società proprietaria tutela i propri diritti a rigore di legge.

Formato

A3
Codice

Denominazione

CONTALITRI G-FLOW PULSI
1:2

Scala

Materiale <non specificato>
Materiale

R
e
v
is

io
n

i Rev.
RM n°

Data

Firma

V.Perrotta
Disegnato

02/12/2015

1

Data

Tolleranze generali
UNI EN 22768-mK 760.40 kg

Peso indicativo

02/12/2015
Data
Ing.M.Dondi

Approvato

1 di 1
Foglio

2 3 4 6 85 7 9

P
ro

p
ri

e
tà

- Componente Adam Pumps -

CODE DESCRIPTION QTY

1 TF066A Body 1

2 TF065A Cover 1

3 TF064 Inlet flange 2

4 OR011 O-Ring 37 x 3 4

5 TF070 cemented pin 5x60 2

6 TF040 Magnet Ø3 4

7 TF071 cemented pin 3x14 2

8 TF018  calibration cap 1/8" 1

9  11010100200 O-Ring 108 1

10 TF068  oval wheel 4

11 OR033 O-Ring 6-532 1

12 TF076 Inlet filter 1

13 TF072 Cover plate 1

14 AC005 Cable gland 1

15 VT036 Nylon Washer 2

20 OR031 O-Ring 2-142 1

17 TF077  cemented pin 5x12 2

18 TF074 reed GFlow card+cable 1

19 VT040  screw M5x16 4

20 VT045 screw M8X25 4

21 VT037 screw M4x6 2

22  80901439100 screw M4x10 4

digital flowmeter 

category	 model

GFlow reed switch

 
 

 

Москва, шоссе Энтузиастов 31с50   

Санкт-Петербург, ул. Заусадебная 31 

 

ООО «АРТАЗ» +7 (958) 762-88-45, https://artaz.ru, Почта: info@artaz.ru 
Видеообзоры оборудования: https://youtube.com/@artazru 

 

 

 

 
 

Москва, шоссе Энтузиастов 31с50   

Санкт-Петербург, ул. Заусадебная 31 

 

ООО «АРТАЗ» +7 (958) 762-88-45, https://artaz.ru, Почта: info@artaz.ru 
Видеообзоры оборудования: https://youtube.com/@artazru 



MADE IN  ITALY

Adam Pumps S.p.A. 
Soc. con Socio Unico
via della resistenza 46/48 - 41011 Campogalliano (MO) ITALIA
Tel +39 059 528128 - Fax +39 059 528437 | www.adampumps.com - info@adampumps.com

tutte le dimensioni espresse in mm - all dimensions are in mm

ingombri - overall dimensions

documento - document	 prodotto - product

G FLOW

 
 

 

Москва, шоссе Энтузиастов 31с50   

Санкт-Петербург, ул. Заусадебная 31 

 

ООО «АРТАЗ» +7 (958) 762-88-45, https://artaz.ru, Почта: info@artaz.ru 
Видеообзоры оборудования: https://youtube.com/@artazru 

 

 

 

 
 

Москва, шоссе Энтузиастов 31с50   

Санкт-Петербург, ул. Заусадебная 31 

 

ООО «АРТАЗ» +7 (958) 762-88-45, https://artaz.ru, Почта: info@artaz.ru 
Видеообзоры оборудования: https://youtube.com/@artazru 


	GFlow_ts-ENG
	GFlow_AllVersions_ENG_ew
	GFlow_dimensions

